B

?Q/}/L/V :

JDIENYD 3B s
P

= - ‘_' —=— i | ] = z _._\x" \'C:\ “:«. l/ "{J:’a‘

oMW mMay

1 MW (WM on i
Wwnn
1.263 ] e
B
19719 TIEW
130 3 mno
1973 370
X170
BT 1 -

i 1 0 S i O

TN WIn
T I -

PN INTTT 117

HIFS T T

= o

narJy Napa Iy 11N

/ 3 i
=== i
8 (l Yl ) S
= ‘/ R
e
M"ﬁ f i A /
=

f‘ﬁ__h?; .r’j

LINTHCT 212
1x 250 T

1:250 11,7 i

/
W=7 71 "0 1121 2ng
525 O] NI "I'W 173N

312,82 OPRN0M T TR0 TG W T nan Ui o

mxmo_7wnm?1 =g ST s b i M

20260
D TP n'r::nl

—

TAX-3n 1IN0

MW -na7 A axumn

6614 - LW

167 = TPON

"0 1973 -3 - M1ON0 Now

NIWA-NMNa Epn axun - gnn
NWwa-naa NIpn axen - upngn Sua

"POATTIOGT - AT - 112NN

Oy 113M 931N
W, 81 11'po 10

11250 = ITPO. 55

- AN
= m— 0K
i
I0f5nes
@5 A
R o . ’—ﬂg s ghus
R i Ay o j :
{C\_;.lg\'l‘:'_h‘ ‘EI.‘_J mﬂ"i-‘ \/\/:/ J&J_.‘aﬁ F
TIRSH b amayn | #ans> s5- o
| BT R VARSI e | WM wiey 2oy /}xi
Pasge ZE~"'| ko e 1 :1 J L7 :1 X - ! i
—d 'R \ [ Fa Bg s B ...ér . ﬂ'- E.‘g?-..._—. N ’J}j.fl
! b LR e
{ Bl vt psnd
ea-npa |/
‘|I|Ir - % -

o
o W
S —RPITTID 3T — 33791
BT (oM nivomk
moannl 61 1970 T
03°485065 70 47236 Tig'n

1986 11118090

¥,

1



